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Lattice 3by 2

Use lattice multiplication to solve each problem.
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Lattice 3 by 2 Name:. Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
485 x 11 = 401 x 55 = 665 x 39 = N 5’335
4 8 5 4 0 1 6 6 5
0/// 0/// 0/// 1 2/// 0/// 0/// 5 1/// 1 2 1/// 3 2 22,055
0,7 4(,” 8|, 5 21,2 0,7 0,75 2.7 8|,7 8|],75
/// 0 // // O // /// 2 /// 0 /// O // /// 5 /// 5 /// 4 //
51,74].7 8|, 5|t 21,70l.7 0], 5 51,74l 4|, 5% |3 25,935
//3 //3 /5 //O //5//5 //9 //3//5
Ve s V. / 7/ , 7 7 4 14’906
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4) 5) 6)
257 x 58 = 242 x 51 = 338x 18 =
6. 6,084
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6 9 0 3 0 9 2 1 1 11. 19411
112 10 1, 2 /10 18 g 110 To g
21,778,771, 0 21,7 71.,70].,7"1 21,778,779, 9 12. 18,972
/// 1 /// 1 /// O/// 2 /// o /// 0 /// 0/// 0 /// 1 /// 0 // 0/// 5
2 // 2 // // 0 7 // 0 // 0 // 0 O // O // 5 // 5
;70,78 .0 8,71 .,70 0 74,5
10) 56 xg3= 1) 359x59= 12) s06x62=
2 2 6 3 2 9 3 0 6
1/1,’4,’8 1/1,’4,’5 1/0/3/6
l // 6 // 6 // 8 l // 5 // O // 5 1 // 8 // 0 // 6
/// 0 // O // 1 // /’/ 2 // 1 // 8 // /// 0 // 0 // 1 //
8/6/6,’83 9,’7,’8,’19 8.7 6|.7 ,’22
7,75 .8 ! 9 07 2
1-10 | 92|83 75|67 [58[50] 4233|2517 |
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